13000 GeV pp

Z+|Jet

@® = | | ! 1 H®
O L c
35000 — 1 - —¢
= B Thrust A_2" (charged only) (CMS jet substructure) 1@
0 L —=
T [ m CMS 1
£HE000 | - Pythia 6.428 350 n
£ [ -+ Pythia6.428 351 13
£|e ~ - ¥ Pythia6.428 352 o5
225_600 IR A Pythia 6.428 353 ] é
- ~  --O-- Pythia 6.428 354 Hl
= — ---- Pythia 6.428 355 —
%OOO | - Pythla 6428 356 1
= - Pythia 6.428 357 ~
= g Pythia 6.428 358 1%
~ Yi-=-- Pythia 6.428 359 e
15
& 1M
—
=
A 1%
| I s
: 1@
A —©
15
S 4o
g 4 <
R R, ] 3
E-{—uq-_mx_;- — e e | I l: .
2 E 42
%) : _
= B _
O B _
e 1 1
2 - -
T o _
o4
0.5 - —0.5
| 1 1 L 1 1 L | L 1 1 L 1 L 1 L |
0 0.5 1

thrust (charged-only)



	Contents
	Page 1


